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3HULRGH�HPDV�DWDX�SHULRGH�������+DUL�3HUWDPD�.HKLGXSDQ�PHUXSDNDQ�PDVD�DZDO�

NHKLGXSDQ� VDDW� PDVLK� EHUDGD� GL� GDODP� NDQGXQJDQ� KLQJJD� GXD� WDKXQ� SHUWDPD�

NHKLGXSDQ�� �3DGD�SHULRGH�LQL�DVXSDQ�QXWULVL�\DQJ�GLEXWXKNDQ� LEX�GDQ�DQDN�KDUXV�

WHUFXNXSL�NDUHQD�ELOD�WLGDN�WHUFXNXSL�DNDQ�EHUGDPSDN�SDGD�NRQGLVL�NHKDPLODQ�LEX�

GDQ� SHUNHPEDQJDQ� DQDN� \DQJ� EHUVLIDW� SHUPDQHQ�� 1DPXQ� SHQJHWDKXDQ� ,EX�

PHQJHQDL� SHULRGH� �����+3.�EHOXP�PDNVLPDO�� WHUEXNWL� GHQJDQ� WLQJJLQ\D� DQJND�

NHPDWLDQ�LEX�GDQ�DQDN�VHUWD�WLQJJLQ\D�NDVXV�VWXQWLQJ��6HODLQ�LWX PDVLK�EDQ\DN�NDVXV�

NHPDWLDQ�SDGD�ED\L�DNLEDW�NHVDODKDQ�SHPEHULDQ�DVXSDQ�PDNDQDQ��.DVXV�WHUVHEXW�

GLVHEDENDQ� ROHK� NXUDQJQ\D� SHQJHWDKXDQ� LEX�PHQJHQDL� DVXSDQ� \DQJ� WHSDW� XQWXN�

ED\LQ\D�� 0DND� SHUDQFDQJDQ� PHGLD� HGXNDVL� PHQJHQDL� ����� +3.� LQL� EHUWXMXDQ�

XQWXN� PHQLQJNDWNDQ� WLQJNDW� SHQJHWDKXDQ� LEX� PHQJHQDL� SHULRGH� ����� +3.�

VHKLQJJD�GDSDW�PHQHNDQ�DQJND�NHPDWLDQ�LEX�GDQ�DQDN�VHUWD�NDVXV VWXQWLQJ� 3HQXOLV�

PHQJJXQDNDQ�PHWRGH�NXDOLWDWLI�SDGD�SHQJXPSXODQ�GDWD�PHODOXL�ZDZDQFDUD��VWXGL�

SXVWDND�� VHUWD� REVHUYDVL�� 0HGLD� \DQJ� GLJXQDNDQ� EHUXSD� ERRNOHW VHEDJDL� PHGLD�

XWDPD�NDUHQD�PHUXSDNDQ�PHGLD�\DQJ�VHVXDL�GHQJDQ�NRQGLVL�LEX�VHUWD�PHUXSDNDQ�

PHGLD�\DQJ�SDOLQJ�HIHNWLI�GDQ�HILVLHQ��
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